Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

To_Company Name/Scheme	Infigen Energy
ACN/ARSN	105051616
1. Details of substantial holder	r (1)
Name .	Vijay Vijendra Sethu/Shamala Sanchana Sethu
ACN/ARSN (if applicable)	N/A

The holder became a substantial holder on 9_/Sept/2013

2. Details of voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate (2) had a relevant interest (3) in on the date the substantial holder became a substantial holder are as follows:

Class of securities (4)	Number of securities	Person's votes (5)	Voting power (6)
IFN Stapled Units	40,000,000	40,000,000	5.22%

3. Details of relevant interests

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities
Vijay Vijendra Sethu/Shamala Sanchana Sethu	Pari passu with other stapled securities	40m stapled securities

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

Holder of relevant interest	Registered holder of securities	Person entitled to be registered as holder (8)	Class and number of securities
As above			

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of acquisition	Consideration (9))	Class and number of securities
Please refer attached		Cash	Non-cash	

6. Associates

The reasons the persons named in paragraph 3 above are associates of the substantial holder are as follows:

	Name and ACN/ARSN (if applicable)	Nature of association	
	N/A		
l			

7. Addresses

The addresses of persons named in this form are as follows:

Name Vijay Vijendra	Address	
Sethu/Shamala Sanchana Sethu	6 Maidstone Road, Singapore 139456	

Signature			
print name	VIJAY V SETLY	Capacity PRINCIPAL	
sign here	Sized	date 09 /09 /2013	

DIRECTIONS

- If there are a number of substantial holders with similar or related relevant interests (eg. a corporation and its related corporations, or the (1)manager and trustee of an equity trust), the names could be included in an annexure to the form. If the relevant interests of a group of persons are essentially similar, they may be referred to throughout the form as a specifically named group if the membership of each group, with the names and addresses of members is clearly set out in paragraph 7 of the form.
- See the definition of "associate" in section 9 of the Corporations Act 2001. (2)
- See the definition of "relevant interest" in sections 608 and 671B(7) of the Corporations Act 2001. (3)
- The voting shares of a company constitute one class unless divided into separate classes. (4)
- The total number of votes attached to all the voting shares in the company or voting interests in the scheme (if any) that the person or an (5)
- The person's votes divided by the total votes in the body corporate or scheme multiplied by 100.
- Include details of: (7)

(6)

- any relevant agreement or other circumstances by which the relevant interest was acquired. If subsection 671B(4) applies, a copy of (a) any document setting out the terms of any relevant agreement, and a statement by the person giving full and accurate details of any contract, scheme or arrangement, must accompany this form, together with a written statement certifying this contract, scheme or
- any qualification of the power of a person to exercise, control the exercise of, or influence the exercise of, the voting powers or (b) disposal of the securities to which the relevant interest relates (indicating clearly the particular securities to which the qualification

See the definition of "relevant agreement" in section 9 of the Corporations Act 2001.

- If the substantial holder is unable to determine the identity of the person (eg. if the relevant interest arises because of an option) write (8)
- Details of the consideration must include any and all benefits, money and other, that any person from whom a relevant interest was (9)acquired has, or may, become entitled to receive in relation to that acquisition. Details must be included even if the benefit is conditional on the happening or not of a contingency. Details must be included of any benefit paid on behalf of the substantial holder or its associate in relation to the acquisitions, even if they are not paid directly to the person from whom the relevant interest was acquired.

e Portfolio TransDescription TradeDate NominalAmt ValueDate BUY 102207-1 SECURITY PURCHASE 12/Jun/13 178,181.000 17/Jun/13 BUY 102207-1 SECURITY PURCHASE 7/Jun/13 413,724.000 13/Jun/13 BUY 102207-1 SECURITY PURCHASE 6/Jun/13 1,408,095.000 13/Jun/13	ne Tun		INA III (DOV)		(uz/46/-000) LastPri	LastPrice: 0 275		
Portfolio TransDescription TradeDate NominalAmt 102207-1 SECURITY PURCHASE 12/Jun/13 178,181.000 102207-1 SECURITY PURCHASE 7/Jun/13 413,724.000 102207-1 SECURITY PURCHASE 7/Jun/13 413,724.000 102207-1 SECURITY PURCHASE 6/Jun/13 1,408,095.000	12					014:0		
102207-1 SECURITY PURCHASE 12/Jun/13 NominalAmt 102207-1 SECURITY PURCHASE 7/Jun/13 178,181.000 102207-1 SECURITY PURCHASE 7/Jun/13 413,724.000 102207-1 SECURITY PURCHASE 7/Jun/13 413,724.000		Portfolio	TransDescription	Tuesdan				
102207-1 SECURITY PURCHASE 12/Jun/13 178,181.000 102207-1 SECURITY PURCHASE 7/Jun/13 413,724.000 102207-1 SECURITY PURCHASE 6/Jun/13 1,408,095.000		102207-1		I radeDate	NominalAmt	ValueDate		
102207-1 SECURITY PURCHASE 7/Jun/13 413,724.000 102207-1 SECURITY PURCHASE 6/Jun/13 1,408,095.000	I.		OLCONI I PURCHASE	12/Jun/13	178 181 000		L rice	NetAmt
102207-1 SECURITY PURCHASE 6/Jun/13 1,408,095.000		102207-1	SFCURITY PURCHAGE	711	000.101,071	1 //Jun/13	0.75	THEFT
1 102207-1 SECURITY PURCHASE 6/Jun/13 1,408,095.000		100001		1/JUN/13	413 724 000	1011	67.0	44.869 17
1,408,095.000		L-/07701	SECURITY PURCHASE	G/ hun/10		SI /UNC/CI	0.25	
Constant C					1,408,095.000	12/ Inn/12	04:0	104,069.96
							0.25	353 007 65
				Loter	2. allo min			000°000°000

5 Security : INFIGEN ENERGY (AUD) [IFN AU] (027467-000)

2,000,000

Portfolio Information							
Number	301399	Name	VIJAY VIJENDRA SETHU / SHAMALA SANCHANA SETHU	_			
(As of 10Sep 2013) (Produced on 09 Sep 2013)							
Securities Transactions (All Periods)							
							Gross Amount
Trade Date	Value Date	Transaction Type	Asset Description	Currency	Quantity	Price (AUD)	(AUD)
		External Transfer In -					
		Securities Received	INFIGEN ENERGY - TRIPLE				
06/09/2013	09/09/2013	Free Of Payment	STAPLED SECURITY	AUD	367,544.00	0.2798	102,838.81
00/00/2010	00/00/2010	External Transfer In -		NOD	007,044.00	0.2700	102,000.01
		Securities Received	INFIGEN ENERGY - TRIPLE				
05/09/2013	06/09/2013	Free Of Payment	STAPLED SECURITY	AUD	380,000.00	0.2754	104,652.00
03/03/2013	00/03/2013	External Transfer In -	STAILED SECONT	AUD	500,000.00	0.2754	104,002.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
04/09/2013	05/00/2013	Free Of Payment	STAPLED SECURITY	AUD	974,258.00	0.2731	266,069.86
04/03/2013	03/03/2013	External Transfer In -	STAILED SECONT	AUD	374,230.00	0.2751	200,003.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
30/08/2013	04/00/2013	Free Of Payment	STAPLED SECURITY	AUD	400,595.00	0.2744	109,923.27
30/00/2013	04/03/2013	External Transfer In -	STAILED SECONT	AUD	+00,000.00	0.2744	103,323.27
		Securities Received	INFIGEN ENERGY - TRIPLE				
30/08/2013	03/00/2013	Free Of Payment	STAPLED SECURITY	AUD	463,420.00	0.3000	139,026.00
30/00/2013	03/03/2013	External Transfer In -	STAILED SECONT	AUD	400,420.00	0.5000	100,020.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
28/08/2013	30/08/2013	Free Of Payment	STAPLED SECURITY	AUD	1,072,900.00	0.3000	321,870.00
20/00/2010	30/00/2013	External Transfer In -	STAILED SECONT	AUD	1,072,300.00	0.5000	521,070.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
27/08/2013	20/08/2013	Free Of Payment	STAPLED SECURITY	AUD	303,269.00	0.3000	90,980.70
21/00/2010	20/00/2010	External Transfer In -		NOD	000,200.00	0.0000	50,500.70
		Securities Received	INFIGEN ENERGY - TRIPLE				
26/08/2013	28/08/2013	Free Of Payment	STAPLED SECURITY	AUD	296,573.00	0.3000	88,971.90
20/00/2010	20/00/2010	External Transfer In -		NOD	200,070.00	0.0000	00,071.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
23/08/2013	27/08/2013	Free Of Payment	STAPLED SECURITY	AUD	359,300.00	0.2998	107,718.14
20/00/2010	21/00/2010	External Transfer In -		100	000,000.00	0.2000	107,710.11
		Securities Received	INFIGEN ENERGY - TRIPLE				
21/08/2013	26/08/2013	Free Of Payment	STAPLED SECURITY	AUD	149,289.00	0.2996	44,726.98
21/00/2010	20/00/2010	External Transfer In -		100	110,200.00	0.2000	11,720.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
20/08/2013	22/08/2013	Free Of Payment	STAPLED SECURITY	AUD	12,000.00	0.3000	3,600.00
20,00,2010	22/00/2010	External Transfer In -		100	12,000.00	0.0000	0,000.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
19/08/2013	22/08/2013	Free Of Payment	STAPLED SECURITY	AUD	843,249.00	0.2999	252,890.38
		External Transfer In -			5 10, 2 10.00	5.2000	_0_,000.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
19/08/2013	21/08/2013	Free Of Payment	STAPLED SECURITY	AUD	1,857,277.00	0.3000	557,183.10
					.,,	0.0000	

Trade Date	Value Date	Transaction Type	Asset Description	Currency	Quantity	Price (AUD)	Gross Amount (AUD)
		External Transfer In -					
		Securities Received	INFIGEN ENERGY - TRIPLE				
16/08/2013	20/08/2013	Free Of Payment	STAPLED SECURITY	AUD	18,666.00	0.3000	5,599.80
		External Transfer In -					
		Securities Received	INFIGEN ENERGY - TRIPLE				
14/08/2013	16/08/2013	Free Of Payment	STAPLED SECURITY	AUD	433,552.00	0.2989	129,588.69
		External Transfer In -					
		Securities Received	INFIGEN ENERGY - TRIPLE				
13/08/2013	15/08/2013	Free Of Payment	STAPLED SECURITY	AUD	378,273.00	0.3000	113,481.90
		External Transfer In -					
	10/00/00 10	Securities Received	INFIGEN ENERGY - TRIPLE				
12/08/2013	13/08/2013	Free Of Payment	STAPLED SECURITY	AUD	689,835.00	0.3000	206,950.50
		External Transfer In -					
00/00/2012	00/00/0040	Securities Received	INFIGEN ENERGY - TRIPLE		207 002 00	0 2005	00 040 04
06/08/2013	08/08/2013	Free Of Payment	STAPLED SECURITY	AUD	297,962.00	0.3095	92,219.24
		External Transfer In -					
05/08/2013	07/08/2013	Securities Received	INFIGEN ENERGY - TRIPLE	AUD	248,231.00	0.3000	74,469.30
05/06/2013	07/06/2013	Free Of Payment External Transfer In -	STAPLED SECURITY	AUD	240,231.00	0.3000	74,409.30
		Securities Received	INFIGEN ENERGY - TRIPLE				
02/08/2013	07/08/2013	Free Of Payment	STAPLED SECURITY	AUD	265,711.00	0.3000	79,713.30
02/00/2015	07/00/2013	External Transfer In -	STAPLED SECONT	AUD	200,711.00	0.3000	79,713.30
		Securities Received	INFIGEN ENERGY - TRIPLE				
01/08/2013	06/08/2013	Free Of Payment	STAPLED SECURITY	AUD	51,692.00	0.3000	15,507.60
01100/2010	00/00/2010	External Transfer In -		1 CD	01,002.00	0.0000	10,001.00
		Securities Received	INFIGEN ENERGY - TRIPLE				
31/07/2013	02/08/2013	Free Of Payment	STAPLED SECURITY	AUD	856,989.00	0.2999	257,011.00
0.000/2010	02.00.20.0	External Transfer In -	0.7.4 220 0200.411		000,000100	0.2000	201,01100
		Securities Received	INFIGEN ENERGY - TRIPLE				
30/07/2013	02/08/2013	Free Of Payment	STAPLED SECURITY	AUD	955,286.00	0.2999	286,490.27
		External Transfer In -			,		,
		Securities Received	INFIGEN ENERGY - TRIPLE				
30/07/2013	01/08/2013	Free Of Payment	STAPLED SECURITY	AUD	652,136.00	0.2986	194,727.81
		External Transfer In -					
		Securities Received	INFIGEN ENERGY - TRIPLE				
30/07/2013	31/07/2013	Free Of Payment	STAPLED SECURITY	AUD	491,772.00	0.2976	146,351.35
		External Transfer In -					
		Securities Received	INFIGEN ENERGY - TRIPLE				
25/07/2013	30/07/2013	Free Of Payment	STAPLED SECURITY	AUD	6,000,937.00	0.2998	1,799,080.91
		External Transfer In -					
		Securities Received	INFIGEN ENERGY - TRIPLE				
24/07/2013	29/07/2013	Free Of Payment	STAPLED SECURITY	AUD	27,879.00	0.2700	7,527.33
		External Transfer In -					
	_	Securities Received	INFIGEN ENERGY - TRIPLE				
23/07/2013	26/07/2013	Free Of Payment	STAPLED SECURITY	AUD	1,151,405.00	0.2698	310,649.07
			INFIGEN ENERGY - TRIPLE				
09/07/2013	12/07/2013	Purchases	STAPLED SECURITY	AUD	6,270,204.00	0.2600	1,630,253.04

Turk Date	Mala Bart				0		Gross Amount
Trade Date	Value Date	Transaction Type	Asset Description	Currency	Quantity	Price (AUD)	(AUD)
00/07/00/10	4.4.107.100.4.0	. .	INFIGEN ENERGY - TRIPLE				
08/07/2013	11/07/2013	Purchases	STAPLED SECURITY	AUD	3,746,587.00	0.2600	974,086.39
			INFIGEN ENERGY - TRIPLE				
05/07/2013	10/07/2013	Purchases	STAPLED SECURITY	AUD	220,870.00	0.2571	56,779.05
			INFIGEN ENERGY - TRIPLE				
04/07/2013	09/07/2013	Purchases	STAPLED SECURITY	AUD	47,013.00	0.2500	11,753.25
			INFIGEN ENERGY - TRIPLE				
03/07/2013	08/07/2013	Purchases	STAPLED SECURITY	AUD	63,748.00	0.2500	15,937.00
			INFIGEN ENERGY - TRIPLE				
02/07/2013	05/07/2013	Purchases	STAPLED SECURITY	AUD	7,803.00	0.2500	1,950.75
			INFIGEN ENERGY - TRIPLE				
01/07/2013	04/07/2013	Purchases	STAPLED SECURITY	AUD	628,356.00	0.2500	157,089.00
			INFIGEN ENERGY - TRIPLE				
28/06/2013	03/07/2013	Purchases	STAPLED SECURITY	AUD	627,284.00	0.2500	156,821.00
			INFIGEN ENERGY - TRIPLE				
27/06/2013	02/07/2013	Purchases	STAPLED SECURITY	AUD	87,920.00	0.2500	21,980.00
			INFIGEN ENERGY - TRIPLE				
26/06/2013	01/07/2013	Purchases	STAPLED SECURITY	AUD	253,116.00	0.2500	63,279.00
			INFIGEN ENERGY - TRIPLE				
25/06/2013	28/06/2013	Purchases	STAPLED SECURITY	AUD	176,759.00	0.2500	44,189.75
			INFIGEN ENERGY - TRIPLE				
24/06/2013	27/06/2013	Purchases	STAPLED SECURITY	AUD	218,128.00	0.2500	54,532.00
			INFIGEN ENERGY - TRIPLE				
21/06/2013	26/06/2013	Purchases	STAPLED SECURITY	AUD	255,294.00	0.2500	63,823.50
			INFIGEN ENERGY - TRIPLE				
20/06/2013	25/06/2013	Purchases	STAPLED SECURITY	AUD	231,293.00	0.2500	57,823.25
			INFIGEN ENERGY - TRIPLE		- ,		- ,
19/06/2013	24/06/2013	Purchases	STAPLED SECURITY	AUD	44,941.00	0.2500	11,235.25
			INFIGEN ENERGY - TRIPLE		,		,
18/06/2013	21/06/2013	Purchases	STAPLED SECURITY	AUD	52,954.00	0.2500	13,238.50
10/00/2010	2.000,2010		INFIGEN ENERGY - TRIPLE	1100	02,001.00	0.2000	.0,200.000
17/06/2013	20/06/2013	Purchases	STAPLED SECURITY	AUD	461,303.00	0.2500	115,325.75
11/00/2010	20/00/2010		INFIGEN ENERGY - TRIPLE	A CD	101,000.00	0.2000	110,020.10
14/06/2013	19/06/2013	Purchases	STAPLED SECURITY	AUD	91,151.00	0.2500	22,787.75
14/00/2010	10/00/2010		INFIGEN ENERGY - TRIPLE	NOD	51,101.00	0.2000	22,101.10
13/06/2013	18/06/2013	Purchases	STAPLED SECURITY	AUD	472,862.00	0.2500	118,215.50
13/00/2013	10/00/2013	1 01010303	INFIGEN ENERGY - TRIPLE	AOD	472,002.00	0.2300	110,210.00
12/06/2013	17/06/2013	Purchases	STAPLED SECURITY	AUD	42,414.00	0.2500	10,603.50
12/00/2013	17/00/2013	1 01010303	INFIGEN ENERGY - TRIPLE	AUD	42,414.00	0.2500	10,003.50
03/06/2013	06/06/2013	Purchases	STAPLED SECURITY	AUD	3,000,000.00	0.2500	750,000.00
03/00/2013	00/00/2013	r ui ui dases		AUD	3,000,000.00	0.2300	750,000.00
20/05/2013	02/06/2042	Durahaaaa	INFIGEN ENERGY - TRIPLE		1 000 000 00	0.0407	240 650 00
29/05/2013	03/06/2013	Purchases	STAPLED SECURITY	AUD	1,000,000.00	0.2497	249,658.00
To be to the total second							
Total Holdings					38,000,000.00	shares	